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125 Questions

Que. 1 Shadows are formed when a/an object comes in the path of light.
1. Opaque
2. Transparent
3. Luminous
4. All of the above
Correct Option - 1

Que. 2 Name the disinfectant that is used to purify water after it has been lodine-treated.

1. Potassium
2. Iron
3.  Vitamin C

4. Calcium

Correct Option - 3

Que. 3 In the context of BRICS nations, which nation does the alphabet S represent?
1. South Korea
2. Spain
3. South Africa
4. Saudi Arabia
Correct Option - 3

Que. 4 What is the SI unit of electrical resistance?

1. Ampere
2. Ohm

3. Mole

4.  Volt

Correct Option - 2

Que. 5 'Alexander the Great' invaded India in the year

1. 263 BC
2. 326 BC
3. 236 BC
4. 362 BC

Correct Option - 2

Que. 6 Which of the following states has the highest life expectancy at birth?
1. Andhra Pradesh
2. Jammu and Kashmir
3. Himachal Pradesh
4. Kerala
Correct Option - 4


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

Que.7 The were the first Europeans to come to India.
1. French
2.  Portuguese
3.  Dutch
4. English

Correct Option - 2

Que. 8 Name the Strait that separates India and its neighbour Sri Lanka.

1. Mannar Strait

2. Palk Strait

3. Malacca Strait

4. Cook Strait
Correct Option - 2

Que.9 Who is the very first Mughal emperor?
1. Alam Khan

2. Babur
3.  Mohammed
4. Akbar

Correct Option - 2

Que. 10 Name the Indian company which first touched a market capitalization of 8 trillion INR in the Indian stock

market.
1. Tata Consultancy Services
2. HDFC
3. Reliance Industries
4. 10CL

Correct Option - 3

Que. 11  Name the minister who is acting as Finance Minister on behalf the current Finance Minister Arun Jaitley who is

unwell.
1. Piyush Goyal
2. Suresh Prabhu
3. Ram Vilas Paswan
4.  Smriti Irani

Correct Option - 1

Que. 12 World Polio Day is observed across the world on which day?

1. October 24
2. February 14th
3. March 19

4. January 23"

Correct Option - 1
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Que. 13 Who was the first scientist to be awarded two Nobel Prizes?
1. Albert Einstein
2. Thomas Edison
3. Marie Curie
4.  Frank Templeton
Correct Option - 3

Que. 14 The idea of the provision of "Concurrent List" in the Constitution of India is taken from which of the following

country?
1. United States of America
2. United Kingdom
3. Canada
4. Australia
Correct Option - 4

Que. 15 In which state would you find the tribe called Kani?

1. Maharashtra
2. Kerala
3. Madhya Pradesh
4. Punjab

Correct Option - 2

Que. 16  How many silver medals India won at the 18™ Asian games in Jakarta?

1. 24
2. 34
3. 44
4. 11

Correct Option - 1

Que. 17 Black soil is ideal for the cultivation of which of these crops?

1. Sugarcane
2. Wheat
3.  Cotton
4. Paddy

Correct Option - 3

Que. 18 Renowned Musician Annapurna Devi is associated with which instrument?

1. Rudra veena
2. Sarangi

3.  Veena

4.  Surbahar

Correct Option - 4

The Taj Mahal is an ivory-white marble mausoleum on the south bank of river in Agra.
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Que. 19 Ganga

2. Yamuna

3. Saraswati
4. Tapti
Correct Option - 2
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Que. 20 The first practical light bulb was invented by

1. Galileo Galilei
2. Alexander Graham Bell
3. Thomas Alva Edison
4. Isaac Newton
Correct Option - 3

Que. 21 Cobalt Oxide imparts which color to glass?

1. Green
2.  Purple

3. Blue

4.  White

Correct Option - 3

Que. 22 Which of the following is an instrument of the monetary policy of the Reserve Bank of India?

1. Public Debt

2. Tax Rate

3. Government Expenditure
4. Repo Rate

Correct Option - 4

Que. 23 Vedic religion was also known as
1. Buddhism
2. Brahmanism
3. Jainism
4. Hedonism

Correct Option - 2

Que. 24  Apart from Mahatma Gandhi, who was the other prominent personality to protest against untouchability in

India?
1. Bhimrao Ambedkar
2. Subhash Chandra Bose
3. Jawarharlal Neharl
4. Bhagat Singh
Correct Option - 1

Que. 25 The Yamuna river flows parallel to the
1. Krishna
2. Ganga
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3. Kaveri
4. Brahmaputra
Correct Option - 2

Que. 26 A number 5132832 is divisible by

1. 5
2. 6
3. 7
4. 9

Correct Option - 2

Que. 27 The sum of two numbers is 140. If their LCM is 240 and HCF is 20, then find the smaller number.

1. 60
2. 140

3. 20

4. 80

Correct Option - 1

Que. 28 Thevalueofl% +{[£+§(l—l x %) +1%} —I—%}is

80 © 4\4 3
1. 1

2.5

3.

4. 10

Correct Option - 1

Que. 29 If the volume of a cube is 814/3 em?, then its total surface area is:

L. 166 cm?
2. 152 cm?
3. 164 cm?
4. 162 cm?

Correct Option - 4

Que. 30 Length of each side of a rhombus is 13 cm and one of the diagonal is 24 cm. What is the area (in cmz) of the

rhombus ?
1. 60
2. 120
3. 300
4. 240

Correct Option - 2

Que. 31 What is the perimeter of a right-angled triangle whose sides (making 90°) are 20V3 cm and 15V3 cm?
1. 65V3 cm
2. 60V3cm
3. 50V3cm
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4. 553 cm
Correct Option - 2

Que. 32 Two circles of radii 14 cm and 10 cm intersect each other. and the length of their common chord is 16 cm. What
is the distance (in cm) between their centres?

1. 6+4433
2. 6+2¢33
3. 6+5433
4. 6+3,/33

Correct Option - 2

Que. 33 Ravi’s age is 3/5 of Shyam’s ages. After x years the ratio of the ages of Ravi and Shyam becomes 5 : 7 If
initially the sum of their ages is 32, then what is the value of x?

. 8
2. 2
3.7
4. 4
Correct Option - 1

Que. 34 The fourth proportional to 5, 8 and 30 is:

1. 50
2. 60
3. 48
4. 90

Correct Option - 3

Que. 35 Atotal of 57 sweets were distributed among 10 children such that each girl gets 6 sweets and each boy gets 5
sweets. Find the number of boys.

I. 6
2. 4
3. 3
4. 5
Correct Option - 3

Que. 36 Which of the following fraction is the smallest?

15 19 24 34

167207 25’ 35
1. 19
20
2. 24
25
3. 15
16
4. 34
35

Correct Option - 3
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Que. 37 \/110% is equal to

1. 120
2. 115
3. 11.0
4. 105

Correct Option - 4

Que. 38 If Vx = 256, then the value of x will be

1. 14
2. 16
3. 18
4. 20

Correct Option - 2

Que. 39 The average of four consecutive even numbers is 27.Find the largest of these numbers.

1. 24
2. 30
3. 32
4. 28

Correct Option - 2

Que. 40 1f40% of 40% of x is 40 then ‘X’ is

1. 100
2. 250
3. 400

4. None of these
Correct Option - 2

Que. 41 A sum of money becomes Rs 1500 in 3 years at a 2% simple rate of interest per annum, then in how many years
will it become Rs. 18007

1. 162
2. 42
3. 132
4. 52

Correct Option - 3

Que. 42 A can do some work in 15 days and B can do the work in 30 days. A and B worked together. B did that work for
5 days and he left the work. In how many days remaining work will be completed in this way?

|

O O 0
N =

Sl
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Que. 43 Two persons are standing on either side of a 1200 m long bridge, if they walk towards each other at the speed of

5 m/min and 10 m/min respectively, in how much time will they meet?

1. 60 min
2. 80 min
3. 85 min
4. 90 min

Correct Option - 2

Que. 44 The difference between the ages of Rahim and his uncle is 10 years. After 2 years if the sum of their ages is 66

years, then what will be the age of the uncle?

1. 51
2. 49
3. 36
4. 41

Correct Option - 3

Que. 45 There are some hens and goats in a field. The sum of all the heads is 77 and the sum of the legs is 248. The

number of hens in the farm is?

1. 25
2. 30
3. 40
4. 47

Correct Option - 2

Que.46 |f (x + 3) is a factor of a% + 12x - 13, then what is the value of a?

1. 8
2.7
3. 6
4. 5

Correct Option - 2

Que. 47 Find the value of sin 60° cos 30° + tan 45° cos 60° sin 30°

1. %
2.5
3.1

4, =1

2

Correct Option - 3

Que. 48

3 1opk
————" isequal to
—of =+=
50 5 5

1

3
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Que. 49 Five years ago, the average age of A,B,C and D was 45 years. By including X in the present lot their present

1.
2.
3

4.

average changes to 49 years. What is the present age of X?

40 years
45 years
49 years
48 years

Correct Option - 2

Que. 50 If the ratio of the areas of two squares is 9 : 1, then the ratio of their is
1. 9:1
2. 31
3. 34
4. 13

Correct Option - 2

Que. 51 Find out the wrong number in the given series:

4,

1.
2.
3

17, 25, 37, 50, 65, 82, 101
25
17
101
65

Correct Option - 1

Que. 52 Select the related number from the given alternatives.

4.

1.
2.
3

46 :48::54:7
59
40
67
62

Correct Option - 2

Que. 53 Find the odd one from the following.

1.
2.
3.

4.

Day - Night

Clever - Foolish
Clear - Blurred

Arrive - Come

Correct Option - 4

Que. 54

1.

YHMOV

In a code language, QUESTION is coded as NXBVQLLQ. How would REPLY be coded as in that language?
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2. OBMVI
3. VHSOB
4. OHMOV

Correct Option - 4
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Que. 55 Five students A, B, C, D and E are sitting in a row. D is on the right of E. B is on the left of E but is on the right

1. B
2. E
3. C
4. A

of A. D is on the left of C. Who is sitting on the extreme left?

Correct Option - 4

In a particular code language '"ABASEMENT! is written as 'EECTEIBLS' then how '"ABANDONED' is written

Que. 56
in that language?
1. EECODKKDD
2. EECOEIBLC
3. EECODKKCC

4. EECTDLLCC
Correct Option - 3

Que. 57 Vijay starts walking straight towards East. After walking 75 meters he turns to the left and walks 25 meters
straight. Again he turns to the left and walks a distance of 40 meters straight. Again he turns to the left and
walks a distance of 25 meters. How far is he form the starting point?

1. 115 meters

2. 50 meters

3. 35 meters
4. 140 meters
Correct Option - 3

Que. 58 Arrange the following cricket equipment in a logical and meaningful order.

1. Shoes

2. Helmet
3. Thigh guard
4. Chest Guard

5. Shin pad
1. 2,4,3,51
2. 2,5,3,4,1
3. 5,2,3,4,1
4. 2,5,4,3,1

Correct Option - 1

Que. 59

Find the wrong term in the series?
2,4, 12,48, 240, 1444

240

2. 48
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3. 1444
4. 12
Correct Option - 3

Que. 60 Directions: In the following, series of numbers are given following a certain pattern. One term in the number
series is wrong. Find the wrong term.

1,3,7,15,27, 63,127

1. 7

2. 15
3. 27
4. 63

Correct Option - 3

Que. 61 Three of the following four words are alike in a certain way and one is different. Choose the odd one.
1. Dead Sea
2. Philippine Sea
3. Arabian Sea
4. Bering Sea
Correct Option - 1

Que. 62 Complete the following number series by choosing the correct option.
240, 306, 380, 462, ?

1. 602
2. 586
3. 524
4. 552

Correct Option - 4

Que. 63 If'+' stands for 'subtraction’, '+' stands for 'multiplication’, 'x' stands for 'addition' and ' stands for 'division',
then which of the following equations will be correct?

1. 245x55+3+321-3=20

2. 920-10x5+131+210=530
3. 860-86+25+27x182=405
4. 973-7x12+17+4=85
Correct Option - 3

Que. 64 Seven people, P, Q, R, S, T, U and V, are sitting in a straight row, facing the north. Only two people sit to the
right of U. Only two people sit to the left of R. Only two people sit between U and Q. Only three people sit
between R and V. T is not an immediate neighbour of U. S sits to the right of U. Who sits to the immediate right of U?

1. P
2. S
3. R
4. T

Correct Option - 2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai24

Que. 65 Select the option figure in which the given figure is embedded (rotation is NOT allowed).

7

)~

Correct Option - 4
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Que. 66 Select the figure from the options that can replace the question mark (?) and complete the given pattern

(rotation is NOT allowed).

g

ZIN

¥

NE

¥*

N
N

/|

V

¥*

Correct Option - 4

Que. 67 Select the figure that will come in place of the question mark (?) in the following figure series.
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Correct Option - 2
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Que. 68 Select the option that is related to the figure (C) in the same way as figure (B) is related to figure (A).

B 4.
¢ O

4L &,

0 €

3 +

Z

|||
IV|IIP | IV|e®

Correct Option - 2

(B)

v 4
(C)

Que. 69

In the given figure, what will be the number on the face opposite to 47, if the given sheet is folded into a cube?
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03
37147 |41]59
43
1. 37
2. 41
3. 59
4. 43

Correct Option - 3
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Que. 70  Select the option that represents the correct order of the given words as they would appear in an English

dictionary.
1. Catalyst
2. Carrot
3. Calcium
4. Calculate
5. Calendar
1. 4,3,52,1
2. 4,5,3,2,1
3. 3,4,52,1
4. 3,2,1,4,5
Correct Option - 3

Que. 71 Select the Venn diagram that best illustrates the relationship between the following classes.

Doctor, Professor, Cardiologist
1 = Doctor, 2 = Cardiologist, 3 = Professor

Correct Option - 1

Que. 72 Based on the given venn diagram, which of the following statement(s) is/are correct?
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I. Number of mango which are only fruit are 13.

II. Number of potato which are neither fruit and nor mango are 5.

1. BothlandII
2. Onlyl

3. Neither I nor II
4. Onlyll

Correct Option - 2

Que. 73 Three Statements are given followed by four conclusions numbered 1, 2, 3, and 4. Assuming the statements to
be true, even if they seem to be at variance with commonly known facts, decide which of the conclusions
logically does NOT follow(s) from the statements.

Statements:

All K are S.

No SisaB.

Some B are T.

Conclusions:

1) No K are B.

2) Some T are not S.

3) Some T are B.

4) All B being K is a possibility.
1. Only 2 does not follow.
2. Only 1 does not follow.
3. Only 3 does not follow.
4. Only 4 does not follow.

Correct Option - 4

Que. 74 Pointing towards the photograph of a lady, Varun said, "She is my father-in-law's son's only sister's mother-in-
law". How is Varun related to that lady?

1. Son-in-law
2. Brother

3. Son

4. Husband

Correct Option - 3

Que. 75  Which of the following conclusions can be drawn on the basis of the given statements
Statement 1: Divya is taller than Viru.

Statement 2: Sneha is immediate shorter than Divya.
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Statement 3: Arvind is taller than Viru but shorter than Sneha.
1. Viruis taller than all of them.
2. Arvind is taller than Divya.
3. Viruis taller than Sneha.
4. Divya is taller than Arvind.
Correct Option - 4

Que. 76 He put across his ideas to the minister.
1. made available
2. strongly expressed
3. effectively conveyed
4. laid aside
Correct Option - 3

Que. 77 She is too fond of her own voice.

1. loves singing
2. very selfish
3. does not listen properly to anyone else
4. very talkative
Correct Option - 4

Que. 78 To shed crocodile tears.
1. to pretend grief
2. to weep profusely
3. to grieve seriously
4. to mock something
Correct Option - 1

Que. 79 Direction: In the following sentence, a proverb is highlighted. Select the alternative which best describes
its use in the sentence.

The kind old woman received the stranger with open arms.
1.  With her arms free
2. With warmth
3. With restraint
4.  With gratitude
Correct Option - 2

Que. 80 Direction: In the following sentence, a proverb is highlighted. Select the alternative which best describes
its use in the sentence.

The sales of the company are increasing by leaps and bounds.
1. Very rapidly
2. In calculated ways
3. Very slowly
4. Far lesser than expected
Correct Option - 1
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Que. 81 Direction: Select the word that is nearly opposite to the words given.

Chronic
1.  pathetic
2. temporary
3. characteristic
4. mild
Correct Option - 4

Que. 82 Direction: Select the word that is nearly opposite to the words given.

Conceal
1. explain
2. show off
3. describe
4, reveal

Correct Option - 4

Que. 83 Choose the right word to fill in the blanks.
I hanged my on the leg of the table.
1. two
2. toe
3. too
4. to
Correct Option - 2

Que. 84 Choose the right word to fill in the blanks.

I always use when I make rotis.
1. flour
2. floor
3. flora
4. flower

Correct Option - 1

Que. 85 Choose the right word to fill in the blanks.
My is very

1. deer, dear, deer
2. dear, deer, dear
3. dear, dear, deer
4. deer, deer, dear

Correct Option - 2

Que. 86 Direction: Select the word that is most similar in meaning.
Solitude

1. aloofness
2. musical composition

3. true statement
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4.

single mindedness

Correct Option - 1

Que. 87 Direction: Select the word that is most similar in meaning.
1.
2.
3

4,

Relish
realise
taste
enjoy

reveal

Correct Option - 3

Que. 88 Direction: Select the word that is most similar in meaning.

>

Envisaged
ensured
idealised
created

contemplated

Correct Option - 4

Que. 89 Direction: Select the word that is most similar in meaning.
1.
2.
3

4.

Infer
suggest
calculate
debate

conclude

Correct Option - 4

Que. 90 Direction: Select the word that is most similar in meaning.
1.
2.
3

4.

Camouflage
fabric
cover
demonstrate

disguise

Correct Option - 4

Que. 91 Read the passage and answer the questions that follow.

GET IT ON
Google Play

From the world of magic, hypnosis is moving into the world of medicine, from hocus-pocus performed by men in black
capes, to hypnotherapy practiced by doctors in white coats. The purpose is to help people stop smoking, lose weight,
overcome phobias, and control pain in a variety of medical situations, from childbirth to cancer. Research laboratories are
currently checking out the success rate of therapy under hypnosis, while medical journals stand by to publish the results.
And the important thing is, nobody is laughing.
In the 1840s, a British doctor in Calcutta created a controversy by performing over 1000 operations with hypnosis as the
only anesthesia. During the World Wars, German and British doctors used hypnosis to treat war neuroses.

What is the meaning of Hypnosis?

1.

A trancelike state
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2. Autosuggestion
3. Anesthesia

4.  Hocus-pocus

Correct Option - 1

Que. 92 Nobody is laughing at hypnotherapy now, because they are
1. Angry
2. Taking it seriously
3. Annoyed
4. Sad
Correct Option - 2

Que. 93 The purpose of hypnotherapy is to
1. Cure patients
2. To help people
3. Carry out research
4. Check out the success rate
Correct Option - 2

Que. 94 German and British doctors used hypnosis:
1. As anesthesia was not available
2. As anesthesia was not needed
3. To treat war neuroses
4.  As it was fashionable during the was period
Correct Option - 3

Que. 95 What is the meaning of word 'Phobia'?

1. Fear
2. Love
3. Mania

4. Neurosis
Correct Option - 1

Que. 96 Identify the part of the sentence that has an error:
The shark attacked the swimmer when he go deep into the sea.
1. The shark
2. deep into the sea
3. attacked the swimmer
4.  when he go
Correct Option - 4

Que. 97 Directions: Identify the part of the sentence that has an error.
The greatest merit of democracy is that everyone feels free and can pursues his/her interest.

1. The greatest merit of
2. democracy is that

GET IT ON
Google Play
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3. can pursues his/her interest

4. everyone feels free and
Correct Option - 3

Que. 98 Directions: Identify the part of the sentence that has an error.

She would resign sooner then take part in such dishonest business deals.

1. sooner then
2. She would resign
3. take part in such dishonest
4. business deals
Correct Option - 1

Que. 99 Directions: Identify the part of the sentence that has an error.
She was taller than either of her five sisters.

1.  She was taller

2. five sisters

3. ofher

4. than either
Correct Option - 4

Que. 100 Directions: Identify the part of the sentence that has an error.
Rather than go with Amit, he decided to stay at home.

1. with Amit
2. Rather than go
3.  he decides

4. to stay at home
Correct Option - 2

Que. 101 wwquﬁ_o—q;mas_é@%ﬁ?_
L quet

2. wetae

3. Ay

4. 3afy

Correct Option - 3

Que. 102 I frg WTWT T Tk &

L g®f

2. BRIl
3. 3REl
4. Ipd

Correct Option - 1

Que. 103 YT Yo A DI I} @G &
L HgE @i
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2. gad @
3. gme @
4. IR AP

Correct Option - 3

Que. 104 TR U W11 & MW 2 39 a1 & 1 I ¥ 2

1. Ygarad
2. faqdrs
3. EHAESD
4. dgedldd

Correct Option - 3

Que. 105 A TIFW e ST AR A S I fpar g

1. 3pH®
2. gHHB
3. IRUmd®
4. fgptie

Correct Option - 1

Que. 106 @WWWWWW%%@%U—W%@WG%WW%?

1. foRivor
2. Y
3. PR
4. foar oo

Correct Option - 2

Que. 107 aﬁﬁqwaﬁr@@rﬁ%‘c{%‘?_
l. da+dHd

2. qd+dH
3. dd+dH
4. qq+ e

Correct Option - 4

Que. 108 @%ﬂ o B’W'f%

L g
2. ¥
3.
4. R

Correct Option - 4

Que. 109 3{RIRT Yeg b1 IHH eg [T
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L 3ms
2. RR
3. oW
4. afaqg

Correct Option - 1

GET IT ON
Google Play

Que. 110 Tireft %7 Tafgar= Wt &

1 gad
2. gt

3. OFdl
4. Qe

Correct Option - 2

Que. 111 7RT & fadH Usg

1. &m9q
2. Yl
3. A
4, a’gﬂ'ﬂ[

Correct Option - 1

Que. 112 {5 fdt G ema AT 81

L PR

2. g

3. fAfefa
4. SQ@EATd!

Correct Option - 3

Que. 113 G‘q!jzﬁﬁmqqﬁ'q
A J IR g g

I fdoiyd
2. OHg
3. g

4. gy

Correct Option - 4

Que. 114 a‘maﬁtg[aﬂﬁ'q
9 - 39 Afga & R faan Aoft AT HHAN & e agd afem w8
1.

2523

2
3.
4
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Correct Option - 4

Que. 115 FgfeRed arerd! & gk e -
1. fiewr e sMdl TH 7|
2. G AP P 3] H BT e BT B |
3. PO D eHD! A BT I AT gl
4. Hipw P 3 TH T

Correct Option - 4

Que. 116 3f3 I GeTaR HT1 3 §
1. iff & go & SR S
2. rgddt gl
3. Wi g o
4. WHATPR doT

Correct Option - 4

GET IT ON
Google Play

Que. 117 Ry & a1y 5 T SR SR T 1 5 (1) 9IR (6) Y e 7 B S e A sy
31=1 B TR YT H Siear (@), ), (@), () DI S S TS 81 37 fquifrg umil &) eargdes gz feu Ty

famedl & T 3frd HH &1 FH1d FifoT|

SOH B! foraill () BT o g (@) T Th oS Bl () B 9hd(d)

L. 99493
2. 39,9,9
3. 9,939
4. 349,99
Correct Option - 3

Que. 118 T[T &1 AT 3d, 3 [T SR |
Al 3d Jufedr, 3d faraugR ||

3 Uferral § 1 g1 7y PAfga 82

1. CIRSRZI

2. TN SR

3. XA

4. 9RIg

Correct Option - 3

Que. 119 &g fda UHR & Bld &2

1. 2
2. 5
3. 3
4. 6

Correct Option - 3
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Que. 120 HA-INR, {91 BN 3-98 3|
T Ufaal & &1 91 S(ddR 82

1. W

2. IUD

3. Y

4. goifag

Correct Option - 2

Que. 121 TN % =GR 5-
L. giEH<a o<

2. HgTIIor fFRTaT

3. TS Yo

4. Heredl 9Hi

Correct Option - 3

Que. 122 U TR TR &1 UG WY o AT T IR B 9T HIT:

TGTeRUT & Uil T HagTaiterdl Ureiiebrel § 8 fHerd ¢ efdde # foran & - YfH el 8, H el $1 JdH 8 | T
I IR g8 HI fere 8 fob & fda = arell HiH, §H I UH1 HTH = R A ok §aU I 3TUId Ugd | §aU Bl
ST Uga &1 Tg1 314 § Tt & UIRIRUTISD! dF & I R D818 | 8 WP AeHl & Ui 3R
SRATHA QG A TGN | 31Tl SHTARADhl 9 S 1 & fob Ay o THH MY SeAarg uRacdH o THR TRk &l da
SO AANG YT ¢ SR U130 SERT SAMGRT ¥ FYTE, T1fds T Xgd Fa-T1 9 Sav7 off 9ab | fay fammr
3 fAuen & fore Ifes vd safadira Ul &1 oRevd § | 59 A= H o< 81 %G § | 3RUFRIE & 95 3RUT-
TREMUT Y §Td B XE ©, TIT BH ATHRET P fo1T Geaht i veqm it it | Hf¥y W1l § SR 81 ST U - 39 HY
DI ARATS HAT AT |

fore ag o foran gon § A AT §, 51 Uodl &1 ¥ae 82

1. gHR

2. 3ydg

3. Tgde
4. g

Correct Option - 2

Que. 123 f3U T TR &) UGHR UY & ol Tg! SR &1 I HIfVIT:

TafaRur & Ui Tedt Yaeiterdr urh-eTe O g et g1 srudde B forar g - U AT 8, g0 gt S GaF § | U
R IR g8 i forar g s 3 ufs ) arelt YA, 50 Big UHT HIH A $x o™ ok gad DI 3MT9Td Ugd | g8 &1
3T Uga &1 Tg1 o § et & UIRFRUfA! o & 1 R D818 | 8 WIpfad Tl & Sdhfad 3R
SRATHT Qg I Sa1 gRTT | 31T SHTaRADH T 39 S1d B! § fob Ay & THH AP FAarg TRadH & THR TRk Pl da
ST FANG YT & SR Su-3ot et SameRt & AT, arfds T Ygd Ta-T & S&v7 off 9 | fay faamer
I e & e Ifes vd et Uaml &1 oevd § | S9 [GxM H S<Ie- 81 %G § | 3RUFRIGT & 95 3RUT-
TREUT B! 91 81 3G 5, TIYd g SRS & o et &t e =it giit | Yy A1 § TR 89 S9! U - 57 B
DI ARATS HAT AT |

UTeFehTd eg fohd- Xeal § fde: §1 82

1. 4

2. 3
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3.1
4. 2
Correct Option - 4

Que. 124 U T TRIIRT DI UGHR UY & [T Ta! IR BT I HIIT:

yafarr & Ufd Tedt Yag-=fiaar uriFee 3 € firad 31 srudde § forar 8 - Y AT ], 89 gt Ht AdH § | Tk
R R gg it forar 8 b 3 ufes 7 arelt Y, 50 18 T B0 A H ORI &R g oI 31m9Td Ugd | g8 &l
3TUTd Uga 1 Ugl 3 & gedt &b uIRRUfes i & U1Y BR HSoTs | B Widiad Ja1el &b i 3R
SRATHT Qg A ST gRT | 3116l SHTARADH 9 S1d B! ¢ fob Ay & THH MY TAarg URacH & THR Tk &l da
ST AANG YT & SR SO-3o e Rt SAMERT ¥ AT, a1fds T Xgd Fa-T1 o S&v1 off 9 | fay fammer
3 fAueq & e IMfes Ud safaara Ul o) sReva © | 39 fRxn H S<ie 81 B § | 3RUGRIeT & 98 3RUY-
TREUT B! 91 51 3G o, TIYd Y SATARET & forg godt &t e Bt git | Y AT & TR 89 S9! U - 59 B
&1 aRard &= ghT |

THia & A ale I oy S1d o1 WavT U 8 aval &2

L. gdm

2. fafezor

3. Harwed

4. wHEd

Correct Option - 1

Que. 125 U T IR DI UGHR U & [T Ta! ITR BT T DIIT:

gafarr & Ufd Tet Hag-=iiaar uriFee 9§ € fidd 31 srudde H forar 8 - Y AT ], 89 Ut Ht AdH § | Th
I IR g 4t feran 8 fob & ufde e arell 4f#, g9 IS T 1 7 Y R ok g&d 1 31191 Ugd | &g ol
3O Uga 1 Ugl 3 & gedt & uiRRUfes o & 1Y BR DS oTs | 81 Widbiad Ja1Ll b i 3R
ST SIe W ST BT 3ATST STl 39 §1d 1 ¢ fob % o THTH MY STerarg URad o TTHR TeR b ey
ST HANE Yl & SR {U-370 foTeRT SHHER! ¥ TS, aifes T9 I8 a1 § JaRT o 9 | fay fammr
3 fuea & fore grfes Td afdad uaml & Sevd ¢ | 39 e # <l 8138 § | 3RUTIIS & dad 3RUT-
TREUT D1 91 BT 381 o, TaHd 4 SR & fore gt o1 el Bt 1Tt | YA A1l § 3R 80 SUD! I - 59 HYH
DI ARATS HAT AT |

SRTIINE J TGH BT T e g2

L g e

2. SR YA

3. WA R R A=A

4. 3RUY I ST

Correct Option - 3
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